EFU = eV/sec/cm~2/ster/eV

1.0000 2
3 10.00 0.1000 ©
w100 0.0100 S
o 0.10 = ooo1o~r
0.01 —Jmrrmiii ‘iﬁll '| DD U] uwuw uwu 9 8@1
o m
§ 150 H k ML 0.8
8 100 ]“\ 1AL M 0.6
: m 4‘ W Ll
f o
g Q » % ! # “r | 029
° ‘ 1.03
s 150 09w
[:2]
s 100 082
S 50 0.7';
< 0.6 —
a 0.5 %
M e e e S e .
g 28 0.07 ¢
< 26 -
T24 0.06 S
Z 22 2
z 20 0.05 3
18 2
€ ' N N c
< 9 "‘ v S5 w
>
€ 0 A{‘M. AA'\A hmwwﬂwj\/\ hW\f 0 uE_,
W o_g -5
0 b AN o =
20 ) | 20 ¢
e o MV\NW L w‘mm“ W, ‘V“ AT e A | ) ‘ o
o 0 RV 1 /';{A 'W o \W o L \( A Vi A " ‘ AR il 0 €
-20 % ,‘«& ! L‘“ w‘\‘,‘\‘ f e N " i AT A PATON AV -20 @
_10 ) l \ v Wwwxw,ww I WA\ _405
2073 L | | E
= R m e A A Yy [a M | l i . R — 20
T 0 NP PR L O o 1 T S
§ %3 iU \ | i E- 208
-40 —3
50
iz 40 G
— 30 c
= 20 m
10
50 1.000
Y 40 0.100 _
P 0.010 &
g 20 T e
S0 == 0.001
50 1.000
£ 40 0.100 _
€ 30
: —————— 0.010 ¢
g 20 ©
) 0.001
50 1.000
£ 40 0.100
- 30 0.010“
g 20
10 0.001
. 50— 1.000
= = 0.100 .-
30
. 0.010 —
g2 0.001 —
w0 —————— ————— .

16:00
(8.8,2.3,-3.8)

17:
(9.1,3.4,-3.9)



